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WEB APPENDIX

Proof of Proposition 2

Taking logs of expression (A1), one obtains

—log R ifz(x,b) e [b—N',b)
logp(s)= 1 logP(q)  ifz(x.b)e[b,b—N'T ,
log O ifz(y,b) e (b= N', D]

where

P () = q 1—[a+ 1 —0a)E@)]dwp
R |1-[a+1—0a)E(@)]dwp—(1-2q)dwp |

with & = N'/(b — b). Recall that Assumption 3 ensures that P (q) € (0, 1/R) for any
g € [g,T]. Taking logs of this expression and of equation (11) we can define

h(@) = logP®(q)=1log(l—q)—IlogR,

1- [a +(1-a)E (q)]éa)ﬂ
= logP =log(1—q)—1logR —1lo .
g(@) gP (@) gl —-a) g g[l—[a+(1—a)E(q)]5a)ﬂ—(1—2q)5a)ﬂ
Differentiating these two expressions with respect to q gives h’'(q) = —-1/(1—q)

and g’ (q) = -1/ (1 — q) + 286w/ [1 — péw (1 — 29 + o + (1 — &) E (q))]. Assump-
tions 1 and 3 guarantee that |g'(q)| > |h’(q)|. Defineh = [h(q)dF(q), § =
J'9(@)dF (a), and go such that g (do) = / g (a) dF (q). Then

Var (g (q))=/(g (q)—G)Zqu):/(g @ — 9 @)2dF @ > /(h @ —h (@) dF @).

where the last inequality follows from |g’ (q)| > |h’ (q)| and the monotonicity of both h
and g. Moreover, from a standard property of the second moment, we can write

/(h(q)—h(qo>>2dF<q>=/(h(q)—ﬁ)zdF<q>+/(ﬁ—h<qo))2dF<q>.

Combining the last two expressions we then obtain Var (g (q)) > [ (h (@) — ﬁ)2 dF (q)+
f(h—h (qo))zdF (@) > Var (h (q)). Thisimplies Var (log P (q, x, b)) > Var (log P® (q))
whenever z (y, b) € [b,b— N']. Forany other z (y, b) ¢ [b,b—N'], log P (q, x,b) =
log P® (q), completing the proof that Var (log P (q, x, b)) > Var (log P® ().
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Proof of Proposition 3

From the proof of Proposition 2, it is straightforward that the higher the absolute value
of dlog P (q) /dq, or \g’ (q)\ in the notation of the proof, the stronger the amplification
effect. Such an object is larger, the larger is y (q; X) with

N' (%) -
@i = 2400 |1 poo (1-20+ L a-E@+E@)]

where, with some slight abuse of notation, N' (x) denotes the equilibrium measure of
informed employed managers as a function of the parameter x, which can be equal to
x, y, or M'. Recall that Assumption 3 is sufficient to ensure that y (q; x) > 0 for
all g € [g,q]. We can then differentiate this expression and obtain that for any given

q € [q,T] we have dy (q; x) /dx = (dy/dN") (dN'/dx), where

dy _ , (L1—E@ N' (e, 7) -
W—Z(ﬂ&()) (E—_Q)[1—ﬂ5w(1—ZQ+E—_Q(1—E(Q))‘I‘E(Q))] > 0.

Next, note from (A4) that N' depends on y and x only through x, so dN'/dx =
(dN'/du) (dpu/dr)and dN' /dy = (dN'/du) (dp/dy), where

dN'/du =@ -6M'/ Q-6 — un))*>> 0.
Instead M' affects N' both directly and through , so that
dN'/dM' = u/[1 =61 — @]+ (AN'/dp) (du/dMY).

First, we can rewrite the implicit function for x as v (u; x) = 0 with

-1
(ALD) v(#;X)%—Rll—éwﬂ[E(Q)+ M'(l‘E(q”)” ,

(b -b) (0+52

where X = x/y . Applying the implicit function theorem, we obtaind u /dx = —ovy/ (y 0u)
anddu/dy =xvx/ (y2v,). We can derive o, = 1/ and

-2
1 _ a1 -
Uﬂz_iz X + Réwp (1 — ) _M ¢ E(q))zll—&uﬁ[E(q)+ _M a E(?_)z ”
“ (b —b) (5+2) B-b) (5+52)

Itis immediate that v, > Oandov, < 0,sothatdu/dx > Oanddu/dy < 0. Combining
these results with dy/dN' > 0and dN'/dx > 0, we obtain



dy (q; x) /dx > Oand dy (g; y) /dy < 0. Next, we can rewrite the implicit function
for u as a function v (u; M') = 0, where v (1; M') is equal to the right-hand-side of
expression (A11). Applying the implicit function theorem we now obtain du/dM' =
—om! /vy, Where

-2
omt = —0wfR— d-E@ 1—-dowp | E@)+ _MI 1-E@) )
(b—Q)(5+¥) (b—g)(5+%)

After some algebra we can show that dN'/dM' > 0, so dy (q; M') /dM' > 0, com-
pleting the proof.

Proof of Proposition 5

Given that we assumed there exist three functions W (q, N'), « (g, N'),and G (g, N;)
satisfying equations (14), (15), and (17), the proof follows closely the proof of propo-
sition 1. The only slightly different step is to prove that the investors’ firing strategy is
optimal, which we analyze next.

Here we show that Assumption 5 is sufficient to ensure that the belief that an employed
manager is informed if he did not reveal to be uninformed is always higher than the
probability that a newly hired manager is informed. That is, the posterior probability,
Ni.t1, that manager i is informed if 5;; = 0 and either py = 1/Ror @iy = 1 — x, is
larger than the probability that an unemployed manager at time t is informed, ;. The
proof follows closely the one for the iid case, except that now the job flows are not
constant over time. First, consider an investor who has just hired manager i so that his
prior belief 7; , = &¢. In this case, if ¢;y = 0 and either py = 1/R or iy = 1 — x4, then
Mias1 = e1/ [eic1 + (1= &P) (1 — e—1)]- Next, we want to show that 7; 1 > &
This condition can be rewritten as (A10) and, substituting for ¢ using expression (A9),
we obtain

ZtU/(MI —5Nt')
tU—l/(MI _(5Ntl—1)’

_ U
(A12) 1-¢! < <

where N, =6 (1= &) NP +4,Z¢ and N = 1—N/'. Hence, we can rewrite condition

(A12) as follows:

U 1_Ntl+1_5(1_ft) (1_Ntl) Hy (MI _5Ntl—1)
1-¢i < ] I | -
1 - Nt - 5(1 _é:t—l) (1 - Nt—l) ﬂt+1 (M - 5Nt)

Giventhat &Y € [1 — w, 1] and u; = x /W, a sufficient condition is then
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w <

1-N4y 5oy | Wett M!' —6N;
1—N Wy M'—6N{

where N/ € [0, M']. From expression (17), it is straightforward that W; € [y R, y R/ (1 — dwp)]
and hence a stricter condition is w < [1 — M' — dw] (1 — 8) (1 — dwp), which ensures
that Assumption 5 is sufficient for condition (A12) to be satisfied. An argument simi-

lar to the iid case applies when managers have been employed for more than 1 period,
completing the proof.



